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RE k=3 R RE EIE:3 HEE R RE k3 R RE RIS | S

Si=FEH 354 409 -55 3 1 2 403 474 -71| 4409 4314 95
b 1 8 28 44 -16 0 0 +0 30 48 -18 418 349 69
E= ™S 33 23 10 1 0 1 39 26 13 570 547 23
R AR 55 74 -19 1 0 1 61 93 -32 519 523 -4
L X 25 20 5 0 0 +0 28 25 3 291 304 -13
i X 22 34 -12 1 0 1 22 44 -22 370 393 -23
AER 46 35 11 0 0 +0 52 39 13 475 506 -31
oh 3 28 22 6 0 0 +0 31 23 8 330 339 -9
5] X 39 43 -4 0 0 +0 47 45 2 413 366 47
it X 42 52 -10 0 0 +0 45 60 -15 495 447 48
% X 36 62 -26 0 1 -1 48 71 -23 528 540 -12
B 9 8 1 0 0 +0 9 8 1 151 172 -21
FHT 40 34 6 1 0 1 48 35 13 423 425 -2
e 199 193 6 0 0 +0 230 209 21 1,634 1,587 47
HE 38 35 3 0 0 +0 45 37 8 353 348 5
SR 17 18 -1 0 0 +0 21 20 1 183 187 -4
et 33 28 5 0 0 +0 36 29 7 268 275 -7
HEET 53 32 21 0 0 +0 59 37 22 536 555 -19
Bt 82 76 6 0 0 +0 98 94 4 804 800 4
I\ 39 37 2 1 0 1 45 41 4 362 342 20
LEH 75 70 5 0 0 +0 81 75 6 713 784 -7
il 22 27 -5 0 0 +0 23 30 -7 237 277 -40
{FEHET 11 8 3 0 0 +0 1 10 1 118 146 -28
IBETT 28 47 -19 1 0 1 33 54 -21 367 371 -4
deATH 22 23 -1 0 0 +0 30 26 4 190 215 -25
g 158 145 13 1 0 1 178 170 8 1282 1,351 -69
EtXRm 21 22 -1 0 0 +0 22 23 -1 309 316 -7
SLHETH 21 25 -4 0 1 -1 23 31 -8 336 317 19
=587 15 18 -3 0 0 +0 15 19 -4 162 166 -4
AR 107 109 -2 1 1 +0 17 118 -1 1,024 1,033 -9
Bt 35 59 -24 0 0 +0 39 74 -35 543 518 25
AR 42 56 -14 1 0 1 51 62 -1 557 521 36
RET™ 31 35 -4 1 0 1 34 39 -5 277 315 -38
£ 2 (LET 10 12 -2 0 0 +0 13 14 -1 139 128 1
A ET 2 2 +0 0 0 +0 3 3 +0 22 25 -3
Breh 20 37 -17 0 0 +0 21 46 -25 235 231 4
TIN5y 2 1 1 0 0 +0 2 1 1 35 35 +0
EREET 27 33 -6 1 0 1 34 44 -10 245 265 -20
BEm 16 25 -9 0 0 +0 22 26 -4 177 202 -25
NI 40 36 4 0 1 -1 47 51 -4 385 402 -17




7BJIET 8 2 6 0 +0 9 2 7 84 76 8
JII SET 1" 13 -2 0 +0 14 15 -1 114 122 -8
HRET 5 9 -4 0 +0 5 12 -7 59 77 -18
INIET 5 8 -3 0 +0 5 9 -4 48 78 -30
= LIET 6 9 -3 0 +0 7 9 -2 48 74 -26
EEHHHET 0 4 -4 0 +0 0 5 -5 24 31 -7
RERRH 0 0 +0 0 +0 0 0 +0 13 7 6
#®Rm 14 11 3 0 +0 17 16 1 203 227 -24
1 HRET 1 1 +0 0 +0 1 1 +0 22 33 -1
& EFET 4 1 3 0 +0 4 1 3 40 38 2
RiBET 5 2 3 0 +0 5 2 3 20 23 -3
/NEEETET 0 0 +0 0 +0 0 0 +0 25 27 -2
ARET 28 16 12 0 +0 36 20 16 361 286 75
il 7 13 -6 0 +0 11 16 -5 151 127 24
EEHEAT 5 5 +0 0 +0 7 8 -1 45 40 5
7)1 E] 5 2 3 0 +0 6 3 3 32 23 9
REAT 78 68 10 0 -1 91 80 11 772 745 27
RA™ 80 67 13 0 +0 103 84 19 582 546 36
% EE 12 11 1 0 +0 13 13 +0 101 116 -15
TH™ 23 22 1 0 +0 23 27 -4 304 328 -24
FIE 21 25 -4 0 +0 28 35 -7 254 293 -39
hnZEth 34 44 -10 0 +0 48 50 -2 403 430 -27
SEAT 18 18 +0 1 1 23 19 4 236 239 -3
EB &M 69 79 -10 3 3 85 93 -8 734 725 9
BA™ 122 101 21 0 -1 146 126 20 1,188 117 17
AEM 43 62 -19 0 -1 47 74 -27 667 687 -20
=17 16 14 2 0 +0 17 17 +0 160 170 -10
EFW 23 20 3 0 +0 29 22 7 188 214 -26
2 FHT 15 19 -4 1 1 15 29 -14 136 142 -6
={CET 13 11 2 0 +0 16 13 3 90 88 2
Sl 23 23 +0 0 +0 24 26 -2 204 231 -27
=4 78 76 2 0 +0 90 94 -4 646 585 61
FMAHET 8 8 +0 0 -1 9 10 -1 85 79 6
&t 2,349 2,424 -75 16 8 2,727 2,831 -104 | 24515 24,701 -186
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